Forward

pr [ GeV/e | do [ mb /( GeV/c)]

dpr

58.073 £ 0.111 £ 0.827 £ 4.027
99.209 £ 0.101 £ 1.404 £ 6.494
65.573 £ 0.062 £ 0.688 £ 3.695
32.694 £ 0.035 £ 0.630 = 1.639
16.140 + 0.036 + 0.410 £ 0.767
7.757 £ 0.032 £ 0.228 £ 0.359
4.080 £ 0.042 £ 0.159 £ 0.185
2.160 £ 0.008 £ 0.073 £ 0.097
1.108 £ 0.006 £ 0.046 &= 0.050
0.580 £ 0.003 £ 0.031 £ 0.026
0.368 £ 0.004 £ 0.023 £ 0.017
0.229 £ 0.003 £ 0.020 £ 0.012
0.136 £ 0.003 £ 0.014 £ 0.008
0.085 £ 0.002 £ 0.010 £ 0.005
0.044 £ 0.001 £ 0.006 £ 0.005
0.034 £ 0.001 £ 0.006 £ 0.003
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Backward

pr [ GeV/e | dd’%‘T [ mb /( GeV/e)]

72.639 £ 0.062 £ 0.921 £ 8.813
115.245 £ 0.096 £ 1.116 + 12.393
67.803 £ 0.043 £ 0.635 £ 5.800
29.492 £ 0.035 £ 0.400 £ 2.064
12.651 +0.015 + 0.180 + 0.804
5.656 £0.021 £0.161 £ 0.341
2.439 £0.005 £ 0.052 £ 0.138
1.349 + 0.005 £ 0.045 £+ 0.079
0.683 £ 0.004 £ 0.033 £ 0.040
0.379 £ 0.002 £ 0.019 £ 0.023
0.203 £0.002 £ 0.014 £ 0.013
0.142 +£0.002 £ 0.014 £ 0.010
0.097 £ 0.001 £ 0.012 £ 0.009
0.036 £ 0.001 £ 0.004 £ 0.003
0.043 £ 0.001 £ 0.008 £ 0.004
0.015 £ 0.000 £ 0.003 £ 0.001
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